Math 111 Contemporary Mathematics Name: g ; QM

Fall 2015 Comp@mation Day 5
Lecturer: Dr. Paullin

Kermit and Miss Piggy are back to arguing over what each should get in their breakup.

(1) Adjusted Winner Given the points below, settle the argument with the Adjusted
Winner Method. Clearly state who gets what items, and which item gets shared. For
the shared item, state what percentage each person gets.
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(2) Knaster’s and Equitability Procedures The bids placed (in dollars) are as fol-
lows:

Miss Piggy | Kermit

Banjo 100 450 | -
Diamond Necklace 700 ¥ 200
Lily Pad 20 400-%’

Purple Karate Belt 200 Y 10
Dgh2-0 ', = 00

Fill in the chart below.
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(a) Using Knaster's Procedure, who gets which items, and what are Tagspigey and
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{(b) Using the Equitability Procedure, who gets which items, and what are Tasisspiggy
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{¢) Using the Equitability Procedure results, find the X/B fractions for Miss Piggy
and Kermit.
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(d) In this scenario, what are the following values?
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